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B.Com. (Hons.) 6th Semester (Current Scheme)
Examination, July—2022

ACCOUNTING FOR MANAGERS
Paper : BCHN 6.01
w.ef. Academic Session 2016-17

Time allowed : 3 hours] [Maximum marks : 80

Note: Attempt five questions in all, selecting one question
Jrom each unit. Question no.-1 is compulsory . All
questions carry equal marks.

TN A% §1E @ T 97 570 §T, 7 G 9o B G
AT | JT TS - 1 AERE &1 gl g @ o
T &1

L. (i) Write two importance of Financial Statements.
' foritg ferelt & & wew fafaw )
(i) Explain any two objectives of ratio analysis.
ST [E9ei9or & P & I9q TR |
\1i) Return on capital Employed = _______x100
RFRE Tt Ws@@ = x 100
(iv) Contribution is the difference between ol

WRE 3 &9 7 ofaT B

93647-P-7-Q-9 (22) [P.T.O.
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(v) Which financial statement shows a firm's financial

(2)

position on a particular date ?

Fre-ar R fraer R i Rl o w9
foira Rafty r awfan 8 ?

(vi) Excess of actual cost over standard cost is known
B :
aclRe K W A PR 3 IR A ..
Fed €|

(vii) Management accounting helps Management inf_

e AEiET 6O F ¥ HEE B 2

(viii) Define P/V Ratio. [-.
AIN-HE ST I R B 8x2=14

Unit-I

w1
2. Whatis management accounting ? Explain the fil.&tion
16

and scope of management accounting.
e AT 3§ ? TETHE @i B BEl G
a5 P AT HIFT |

93647

(3) 93647
3. Draw up a Balance Sheet from the following
details : 16
Current Ratio
' Liquid ratio i
Working capital < 40,000
- Stock Turnover Ratio 5 times
Fixed Assets Turnover Ratio 2 times
Gross Profit Ratio 20%
Debtors Velocity 73 days
12-‘ ixed Assets to shareholder's Net worth 0.80
Reserve and Surplus to capital 0.25
A9 @ R gEel $ MR W Riger s
i A !
Xd U 1.4
A Gt 40,000
@l STEd STguT S IO
ey o ST 27
el A ST 20%
TR AT 73 e
R TR § SR B R TE 0.80
SERIEIRCRER Rl 0.25
93647 [P.T.G:
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Unit-11

TFR-11
Explain the importance and limitations of cash flow
statement. 16

mmﬁwa‘a%ﬁwm&w
I |

What is valuation of Assets ? What are the different

methods for valuation of assets ? 16
FERRA B g R R 7w $ i @
A= RftRt & e’ § TaEy)

Unit-ITI

FHPE-111
Following information is available from the record of a
company : 8+8=16
Sales (50,000 units) T 5,00,000
Variable Cost < 5 per unit
Fixed cost T 50,000

Calculate: (i) P/V Ratio, Break Even Point,

margin of Safety.

(i) Changed P/V Ratio, Break-Even
Point, Margin of Safety in the
following cases : L
(a) Increase in 10% in variable cost
(b) Decrease of 20% in selling price
(c) Increase of Sales-volume by

2,000 units
(d) Increase in fixed cost by ¥ 4,000

93647

(5) 93647

T FON G @l § Frafiies gE s ¥
fs5g (50,000 $B1EET) ¥ 5,00,000
EECREN GGG T 5ol I8

At Ar Z 50,000

T i
(i) THF-HE ST, TH-faeT g, geen-dm
(if) WRafiq AR o, we-Rede R
=T amet § grem-n
(a) IR T F 10% afs O W
) FEFT g F 20% #H 8w
(c) foha-am & 2,000 3%Edi % gfx &
3
(d) @Rl @F F 24,000 g AN
Write a note on following : 2x8=16

e ox feoel fafe -

(1) Current Purchasing Power Method
ERLI A ol

(ii) Current Cost Accounting Method
T A e R

93647 [P.T.O.
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Unit-IV

. PRIV
8. A firm whose cost of capital is 10% is considering two

mutually exclusive projects X and Y, the details of which
are :

16
Project X | ProjectY
T ?
Investment 43,500 36,000
Cashflow year 1 10,000 15,000
Cashflow year 2 12,000 13,000 |
Cashflow year 3 13,000 12,000
Cashflowyeard | 14,000 | 10,000
Cashflow year 5 16,000 10,000 ,#
Total Cash flows : 65,000 | 60,000 ]
Compute for both the projects : @

(a) Net Present Value at 10% discount rate

(b) Profitability Index at 10% discount rate

(c) Internal rate of return

93647

) 93647

w A Gl B AT 10% B, 98 < T T
ARt X @ Y | fER & @ §, bew
faver 39 UK B ¢

TRASIX | SRae Y
frrar 43,500 36,000

AFs Srare-an 1 10,000 15,000
U Iaie-ay 2 12,000 13,000
q%e Iraaie-a 3 13,000 12,000
e Fdie-ay 4 14,000 10,000
Ake IFaie-as S 16,000 10,000
%A b <A : 65,000 | 60,000

ARt qRAER % Rig TomT SR ;
(a) lo%geﬂ'{ﬂgawﬁ
(®) 10% B¢ T FE GoHE
(c) UEHE FH ARG &

9. Define standard costing. Discuss 'Material variances' and

‘Labour variances' with reference to it. 16
T A e @ R AR 3| R o
el R &R ‘o RERel @ e ST

93647
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Unit-IV . B.Com.(Hons.) 6th Semester
w.e.f. Academic Session 2016-17 (Current Scheme)
FHE-1V Examination, July-2022
8.  Explain with suitable example the theory of comparative BUSINESS ENVIRONMENT &
cost advantage of International Trade. mT:RNA:ION;LCI:;J ?;ESS
. f " aper No. : .
A g AT S % et Time allowed : 3 hours] [Maximum marks : 80
PRI SR ® bl Note: Attempt five questions in all, selecting one question
9. Explain the functions of IMF. How far has it been Jrom each unit. Question no.-1 is compulsory. All
questions carry equal marks.
- successful in discharging its functions ? What benefits e : g 33’73( 2 0% go7 W & ot g9 3 gav
India has received from membership of IMF ? " Eﬁf?rmgm q&T - 1 FFEE &) ah g9 & 3fF
THIT &1/

. TH. . B FAI H AT PR T8 I B
F e H § oo ww a1 & ? o o ug Ay
HEE § SR B H a gan B ?

1. Write Short notes on the following : 8x2=16
Frfifes v aftra o fifee
(a) SWOT analysis
SWOT fasarsor

(b) Write any two causes of low productivity in
Indian agriculture.

W BN X FH IwRHd $ BE A
; ferfRa |

(c) What do youmean by GDP ?
TR UG IR N Y AT ¥ 7
(d) Define Globalisation.

IO B g B
93651 93651-P-4-Q-9 (22) [P.T.O.
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(e) Whatis Devaluation ?

I N8 7

(f) Write short note on MGNREGA.
MGNREGA T @t feweft fafm |

(2) Explain two functions of world bank.
g ¥% 3 gea FE A e A

(h) Define International Marketing.
shrieg R @ SR R

Unit-1

TPR-1
What is the need of study of business environment ?
Explain the main components of business environment.
TS AT B AT H FA HEAGHA & 7
I AAERT S J&A Tl Bl ARAT BT |
What are the causes of slow industrial developmer* in
India ? Give your suggestions to increase industrial
growth.
i & 6 e R 3 @ e € 7 el
Rreprd # se & o o e AR |

93651

(3) 93651
Unit-II

TE-11

‘Discuss the objectives and tools of fiscal policy in India.

What are its defects ?

R § e i & IRed SR ITHCN T ==
H| 0 I FME 7

What do you mean by inflation ? Discuss its causes. Also
write its effect on economic development of India.

TETEHf & A A R ? 6D BN B B
ARG § il R W 3u® oW 3 aR § 9 e

Unit-III

TR-111
Explain the term International Business. Give a brief
account of major risks and challenges of international
business.
SAUST AN I A e HL | FATEE AR
% gqE Sie SR gRifdl # dtra e i

Examine the advantages and disadvantages of foreign

investment for host nations and home nations.

Ao 29 9 gw 39 B g RRe FEst & i g
gl & o B

93651 [P.T.O.



(4) 93650
Unit-IV
FHR-IV
Explain the meaning of Industrial Relations. Explain its
objectives and scope. |
el e 3 o T i g R
FRAE A B |

"Industrial unrest leads to economic loss." J ustify yovr

answer with suitable examples.

“SfEfE S & oniiE JHEw AT B 17 Sgw
SAEN B WY 9 I A YR it

93650

93650

B.Com. (Hons.) 6th Semester (Current Scheme)
Examination, July—2022

HUMAN RESOURCE MANAGEMENT
Paper : BCHN-6.04
w.e.f. Academic Session 2016—17
Time allowed : 3 hours] [Maximum marks : 80

Note: Attempt five questions in all, selecting one question
%om each unit. Question no.-1 is compulsory. All

questions carry. equal marks.

e - Je% §PI3 G TF J97 97 §Y, e G I @ I
o | FeT G - 1 dHfvard &1 @t got 3 o
garT &1

1. Short Answer Type Questions :
g AT 0
fa) Name two importance of Human Resource
management.

A9 O Y $ Q qed 3 A9 qad |
(b) Name two objective of Human Resource planning,

AMg G e & & SRYd @ S and |

93650-P-4-Q-9 (22) IR EO,
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(¢) Define Recruitment.

il B oRee 5

(d) What are the different methods of training ?
TR & R a0 R

(e) Shortnote on Fair Wages.

SR #ogl T Hr Ao

(f) What is Rowan Premium Plan 2

e A o a7 2 ? 2
(g) Name two objectives of industrial relation.

AN §6g B & R B 7MW
(h) What is lock-out ?
qreEet T ¥ ?

Unit-I

TFR-1 )

Explain the scope and importance of HRM.

HME HEEE Y€E 3 ey ol wew & s
B

93650

)

(3) 93650

"Human resource planning is more common in large
ogranisations than in small organisations". Do you
agree ? How is it carried out at various levels ? .

Wwﬁzﬂaﬂﬁ%mzﬁwﬁa@
TS ot W R 1 T oM gewa ¥ 7 o)
R w3 @ 3 R St @ 2

Unit-II

-1l
What is selection ? Explain the various step in an
effective selection process.

g | T o B ? uF w5 R 3 R
T AT HIT |

What is the importance of training in the organizations ?
1At # i & =y gew 27
Unit-IT1

-ﬁlﬁ-ﬂl

Define Wage. Explain with examples the essentials of
satisfactory wage policy.

T B IR iR a3 SRy @)
AT H eI HRed aWEEy |

Define Wage Incentives. Discuss on the essentials of
satisfactory wage policy.

Foll il H ORI HY | SawE G
worgdt AT @ et Y

93650 [P.T.O.



(4) 93649
(i) C & FH (AfFT THER) % 50,000
(iv) G5t O &, 15% # 3T @ gfad
A ¥ 12,000
B Z 9,000
C % 6,000
% 27.000
Unit-II
SHR-1I1
What is Advance tax ? What are the provisions of Income
Tax Act 1961 for this ? 16

aﬁqu%?wmﬁﬁw 1961 ¥ 35 forw

T qrEay & ?

- What are the various Authorities envisaged in Indian

Income Tax law ? Describe the power of Income Tax

Commissioner.
TG SAFHL B qRepeaa AT st @

® 7 EE HMER B aReAl B a9 i |
Unit-IV
THR-IV
How refund of tax is arises ? Explain the procedure of
refund ? 16
mﬁ%%@é\m%?ﬁ%aﬁm@rmn
How appellate Tribunal is contributed ? Explain
appealable orders to appellate tribunal. 16

I rnfeener 39 sive & ? oy =i
7 ordielig SmReit 3 =rET FHifvre )

93649

Time allowed : 3 hours]

93649

B.Com.(Hons.) 6th Semester (Current Scheme)
Examination, July—2022
INCOME TAX LAW & ADMINISTRATION
Paper No. : BCHN- 6.03
w.e.f. Academic Session 2016-17

[Maximum marks : 80

Note: Attempt five questions in all. Question no.-1 is

compulsory Answer other four questions from each
unit. All questions carry equal marks.

e : I §IE @ TF J97 F T97 B Y

j

93649-P-4-Q-9 (22)

aﬁﬁqzmmwﬁ%aﬂmm#ﬁﬁm
, W97 G&gr-1 sifard 81 T+ mel # o1 v T &

(a) Explain self assessment.
S YIS SAREAT i |
(b) Explain the taxation relief.
FHUM Ted P AT Hivw |
(c) Write a note on rebate u/s 87A.
gRT 87A % Ted 8¢ W & feuoh fifgw |
(d) Whatare the provisions regarding TDS on interest
on securities ?

SRIferll R ST W A & e Y g ® 7
(e) Explainrecovery of Tax.

Y Bl G B AT FiT |
(f) Explain Revision by Commissioner.

G &0 G $ e Hiw |
(g) Typesof ITR Forms.

TR &R, B TBR
(h) Explain Provisions of Section 40(b).

41T 40(b) 3 WG AT B |
8x2=16
P.TO.



(2) 93649
Unit-I

THE-1

2.  Explain the procedure of filling and filing of Income

Tax Return as per Income Tax 1961. 16
AT AT 1961 S TEUH & ATHR HATHT

Rest &1 QU T 41 &1 W B TSR P 9 D |

From the following particulars of Mrs. Rajwanti, age
76 years for the P.Y. 2020-21, Compute her taxable
income and tax liability :

(i) Salary income (computed) T 6,50,000
(i) Income from House property (Computed) ¥4,80,000
(iii) Interest from less tax Govt. Securities¥ 9C 900

(iv) Winning from lottery (Net) . T 72,000
(v) Long term capital gain T 78,000
(vi) Short term capital loss T 22,000
(vii) Agriculture income T 20,000

(viii) She deposited 40,000 in PPF
(ix) She donated ¥ 70,000 to National Cultural fund
by cheque. 16
T aY 202021 & T 76 &t B o & FreiiRed
W%ﬁﬁﬂammgammﬁaaﬁmaﬁﬁq :
() A o (dRe) Z 6,50 000
(i) Te TOR@ q o (§RER) % 4,80,000
(iii) H B GgREl § W T 90,000
(iv) dEQ & Sian (=) ¥ 72,000
(v) s GSiFTa s ¥ 78,000

93649

(3) 93649
(vi) TgHlicsh GoiTa &1 Z 22,000
(vii) F& T 20,000

(viii) S8 G9TE F = 40,000 97 BT |
(ix) Gﬁ%ﬁgﬁ;ﬁﬂ HiEpios B H 9% aN T 70,000
TH R

Unit-1I
THE-11
Discuss the basis for the assessment of tax of HUF. 16
T W URER & F TEHT B SR Bl
|

From the following information Compute the total
income for the firm and its partner for A.Y. 2020-21.
Book profit after debiting the following is ¥ 50,000.
(i) Salaryto A (working partner) ¥ 70,000
(i) Salary to B (Non working partner) ¥ 30,000
(iii) Commission to C (working partner) ¥ 50,000
(iv) Intereston capital @ 15% p.a.

A T 12,000
B ¥ 9,000
C ¥ 6,000 = 27.000 2

FrieRea st @ MulRa ad 2020-21 3 Rie o
A ITH TFIRR H HF AT A T BT |

Frfifga # Sfe &0 @ = &1 T am™
750,000 :

(i) A I (FhF TRRR) % 70,000

(i) B a9 (hhy @ERR) % 30,000

93649 [P.T.O.
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B.Com. (Hons) 6th Semester Examination,
July-2022
PROJECT PLANNING AND MANAGEMENT
Paper-BCH-6.02
Time allowed : 3 hours] [Maximum marks : 80

Note :  Attempt five questions in all, selecting one question
Jfrom each unit. Question No. 1 is compulsory.

Ae : 9% 3% § @ 97 M 94T B g FI U
797 FIore | J¥T & 1 A €1

1.  Write short notes on :
Hitra feafer RiRag -
(a) Stand Alone Risk analysis
@ Siftew fwws ¢
(b) Project Planning
qREeET e
(¢) Venture Capital
e o
(d) Private Equity
[EEIK:EG]
(e) Judgemental
Frofr weeet

93648-P-3-Q-9 (22) [P.T.O.



(%) 93648
(f) Project Management
ORAST S
(g) Time Value Money
g1 &l 999 0
(h) Risk free rate
SR TRt &T
Unit-I
-1
What are the different factors which effects market and
demand analysis? ‘

R & @1 ¥ o e 5 R @
e BT 27
What are the key element of project planning?
R e 3 Jer e ¥
Unit-II
FHE-11
Explain the detail of various type of cost of capital.

ool @t @ B R e A e s #itm

93648

(3) 93648

Describe components of risk analysis.
Sifee fasisT & geat F o BT |
Unit-III
THR-111
Write short notes on :
Hite fewferri feR -
(a) Valuations of real options
qEfeS [l & Jedie
(b) Strategic and organisational consideration
TS T WIeAS [
Explain in details relevant aspects of financing project.
Ry il @ o vegedl @ Riege e
BT |
Unit-1V
-1V
Explain the project management and its techniques.
IR JeEH T SHH Tl B ARAT BT |

What is effective project management in construction?

fmier & guidt aREsET geee @ 27

93648



(4) 93652
7.  Explain the basic element of Retaih'ng operations.
RRRIT SXer 3 g ot Ht wEE|
Unit-TV
-1V

8. Whatdo you understand by retailing strategy ? Explain
the objectives of retailing strategy.

REfeT it & iy r wwem ¥ 7 RRRET TrifE, &
e 3 Redt F gummEn)

9. Describe the objectives and importance of retail

Planning ?

Req Fraie & SRl ol wewa &1 aoi7 Fifer |

93652

93652

B.Com. (Hons.) 6th Semester Current Scheme
Examination, July-2022

RETAIL MANAGEMENT AND SALES
PROCEDURES

Paper—-BCHN-6.06

w.e.f. Academic Session 2016-17

Time allowed : 3 hours ] [ Maximum marks : 80

Note : Attempt five questions in all, selecting one question

qie :

Jfrom each unit. Question No. 1 is compulsory. All
questions carry equal marks.

% §7E & QF 797 # 799 #A gT, G G 49T 3
G T | JeT wEwr 1 At &1 wf geit # o
&7 &

Answer the following questions :

Fr=ifofea usHt & ITX diferT

(a) What do you mean by Retailing Model ?
FefeiT dfew & oy a1 gwe ¥ ?

(b) What do you understand by Ratail Management ?
Rewt sy & omq 791 wen & 2

(c) Describe the purposes of Retail Planning.

Rea e & et &1 qviq 53

93652-P-4-Q-9 (22) [P.T.O.



(C)

(e)

(D

(2

(h)

(2) 93652
What is rétail strategy ?
Feder ot B 7
Who is a retailer ?
REET H 2l § 7

What qualities are essential for the job in

retailing ?

:_R%ﬁiﬂﬁ#ﬁw&%maﬁmgww%?

Why IT is needed in retailing ?
RefiT & 1T Tewayet 1 & ?
What is pricing based retailing ?
T ¢ e RRRET ¥
Unit-I
ECOES |

2. Discuss the meaning and scope of retailing.

Pafer & ot 9 & P e BT |

3. How IT helpful in making retailing effective ?

rRRAT B TwEl g & og . (I.T) 34 ammﬁs_% ?

93652

(3) 93652

Unit-11

w11

4. Write notes on the following :

forer v fegeft fefeg

(a) Store based formats
qFM T ARG A&

(b) Non-store based formats
A-gehe T SR JrEd

5.  Explain different types of retailing on the basis of

market decisions.

Rror & Frofa & e o RRRM & sl @t e i |
Unit-T11
g1

6. What is strategic Retail Management Process ? Write
in detail.

ot Rew gEy sfean & @ 7w & R

93652 [PTO.



